Table 6. Average annual growth rates of hourly labour costs: LCI vs LCS

	NACE rev. 2
	LCI
	LCS
	% diff.

	B
	4.58
	5.24
	-0.65

	C
	3.60
	2.48
	1.12

	D
	1.22
	0.31
	0.91

	E
	2.31
	1.41
	0.91

	F
	4.37
	1.66
	2.71

	G
	2.88
	1.77
	1.11

	H
	3.20
	0.37
	2.83

	I
	1.37
	3.16
	-1.79

	J
	2.38
	1.14
	1.23

	K
	0.93
	0.08
	0.86

	L
	1.99
	-2.92
	4.91

	M
	1.81
	3.14
	-1.33

	N
	3.49
	1.62
	1.86

	O
	
	
	

	P
	1.39
	9.23
	-7.84

	Q
	0.17
	-1.02
	1.19

	R
	1.37
	14.24
	-12.87

	S
	2.97
	-0.03
	3.00

	Total
	2.46
	2.01
	0.44
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